Electric Field Intensity
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For more than ONE charges principle of Superposition is applied



DIPOLE AXIAL LINE
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DIPOLE EQUATORIAL LINE
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Horizontal component = Ecos9
Vertical Component=Esin©

NET FIELD = 2E cos 0 = 2k———.cos®
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DIPOLE EQUATORIAL LINE
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DIPOLE in UNIFORM FIELD




TORQUE on DIPOLE

Net Force=QE-QE =0

Uniform Field NetF 1s ZERO

Torgue about C point

-
TORQUE = Fx L distance G .

when 6 =90° = t,,,, = pPE and when 6 =0°/180° =r,,,, =0



ENERGY of DIPOLE In E
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Work done = Potential Energy s
Work donezj F.ds =j 1.d0 -
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U= 'feelpE sin 0.d0 = —pE cos 0

212 — pE(cos®, —cos,)

U=-pEcos6=-p.E

U,=—-PEato=0° 0=0° = Stable Equilibrium
U, . =pPE at0=180° ©=180°= Unstable Equilibrium



